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Case Problem 11.2 - The University Bookstore Computer Purchase Program
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3-mo
Error MA Error
625.67 295.33 652.9 268
760.00 15.00 803.1 -28
801.33 8.67 715 95.40 805.4 5
835.33 20.67 773 83.00 821.7 34
813.67 -21.67 814 -22.00 826 -34
819.33 57.67 831 46.20 814.8 62
841.67 -148.67 822 -129.00 847.3 -154
787.33 53.67 806 35.40 768 73
803.67 205.33 812 197.20 803.8 205
847.67 54.33 842 59.60 895.4 7
917.33 185.67 864 238.60 921.9 181
1,004.67 910 1023.9

66.00 67.16 56
MAD =| 96.970 100.7111 95.59091

Page 2




